
Tick the tallest tower



Complete the sentence using the word 
taller or shorter

The sheep is              than the panda.



Circle the longest pencil.



Dexter is measuring using squares.

How many squares long is the           ? 
How many squares long is the       ?
How much longer is the                    
than the        ?

squares
squares
squares



Draw a shorter tree.



Tick the correct sentences.

The      is 5 squares tall.

The      is 5 squares tall.

The      is 2 squares shorter than the       



Ron measures some objects.

The                   is       cm long.

The                   is       cm long.



True or False ?

The           is 7cm long ?

True                False 


